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SHBREITELE

TaylorZR 2

=T

fla+h)= f(a)+hf(a)+—f"(a)+ f(3)(a)+0(h)

— R f(a)—f o g 9 + oy
h RE
0.5 -0.2055 '
0.4 -0.1684 il
0.3 -0.1292 7
0.2 -0.0879 7l |
0.1 -0.0447 ajz




SHBREITELE

fa+h)= f@-+hf' @+ f @)+ fO @+
f@=h) = f@=hf'@+ @)= @+
f(a+h)— f(a—h)=2hf"(a)+O(h’)

—METS (@)= f(“+h)2—hf(a—h) +0(h2)

fla+h)+ fa=h)=2f(a)+ ] f"(a)+O(h")

R A G

h* 2




SHBREITELE

=M—rER S FEORELER
h 0.5 0.4 0.3 0.2 0.1
wmE1L | -0.2055 -0.1684 -0.1292 -0.0879 -0.0447
wE2 | 02398 0.1905 0.1416 0.0934  0.0461
wE | 00171 0.0110 0.0062 0.0028  0.00073

“MrERS M REGRE

h B
0.5 0.0188 il
0.4 0.0121 Lo
0.3 0.0068 05/
0.2 0.0030 04

1 15 2 25

0.1 0.0008 a=2 3




SHBREITELE

Lagrangefdi{H BB # 7 1%
ZXFINaE f(x)=~ ilj(x) f(x;)

OIS e E)f(x)

_ (x—x,)(x—Xx,) pooy (x—x)+(x—Xx,)
') (x) —x,)(xy — X;) ') = 2h’

_ (x_xo)(x_xz) , ( — 0).|.( _xz)
h() (x; —x)(x; — x,) h(x)= — — hzx
,(x)= (x—xy)(x—x;) I (x) = (x—x,)+(x—x,)

(xz — Xy )(xz — xl)

20’ .




SHBREITELE

, 3 , 2, 1
lo(x0)=_lﬁ l1(x0)=z lz(x0)=_2_h
f(x,) zﬁ[_3f(x0)+4f(x1)_f(xz)]

, 1 | 1
lo(x1)=—lﬁ I'(x,)=0 lz(x1)=ﬁ
f(xl)zﬁ[_f(x0)+f(x2)]

ey L ey T2 ey S
lo(xz)—Zh Li(x,)= I I, (x,) Y

1
f(x)= o 1 (X0) =4S (x)+37(x,)]




SHBREITELE

“XZWMARESHOZHSBTEAR

f(x;))=2f(x;)+ f(x;,,)
PR

fh(x;)=

TR Z A RESHB M FETEQRN

1
f”(xj) zF[_fj—z +16fj—1 _30fj +16fj+1 _fj+2]




HERSHIIMNERSE

INEEE
—MSBBETE  m)- % [f(x+h)— f(x—h))

4o(h/2)— g(h 162.(h/2)— g, (h
g( 3) g(h) g, (h) = g ( 15) g,(h)

—MSBBETE
G(h)=%[f(x+h)—2f(x)+f(x—h)]

g (h)=

4G(h/2)-G(h) 16G,(h/2)- G, (h)

G,(h) = G,(h)=

3 15 7




HERSHIIMNESE

#HESCLE f(x)=sinx x=2

1
g(h)= ﬁ[f (x+h)— f(x—h)] f(x)=-0.2272
h 0.5 0.4 0.3 0.2 0.1
—Br RO ER | -0.2179 -0.2212 -0.2238 -0.2257 -0.2268
— KA -0.2223 -0.2247 -0.2263 -0.2272
—IRINE -0.2248 -0.2264 -0.2273

G(h) = % [fF(x+h)-2f(x)+ f(x=h)]  f"(x)=-0.9738

h 0.5 0.4 0.3 0.2 0.1
ZH i ER | -0.9537 -0.9609 -0.9666 -0.9706 -0.9730
—IRANE -0.9633 -0.9684 -0.9720 -0.9738
—IRHMNE -0.9688 -0.9722 -0.9740 .




FBRn BIENES AR

—MrEM s AR ERE—ART N
—i(l?ﬂ)+l’d—u+qu=f(x), a<x<b
dx = dx dx

w(a)=a, ub)=p
FaEEEHEAIRBFTET=Z1TLPR:

B— KRB EEHAL;
B BRI HFIESHIL;
F=L BB FFH.

RoanEBBEZEZ—ARREDE

(finite difference method)

I ZHERND B EFHNFEMR 9

T

B R & Web. Link
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BIRESZENEXEEEM RS EFHEMIERL
B (ESEN) .
B—F KRBXEEFHL, i’]’jﬁllﬁﬂiﬁi’ﬂ’ﬂlﬁlﬁ, HY
IEE¥n, £Kh=(0b-a)/(n+), 1
xj—a+]h (] o, 1, -, n+1)
*ﬁgiﬁﬁ O O
Q={x|a<x<b}

> Qh={xj|xj=a+jh9j=19”'9n}

O || || || || || || || O

O-lmEmEmS mEms mEmE (O 10

B R & Web. Link
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B W HiEEAHK

ZREMTHE J— u' +qu= f(x), a<x<b
u(a)=a, ub)y=p

£ 58 |
”"(xj) = % [u(xj+1) o 2u('xj) t u(xi-l )1+ il_z u(4)(§j)

1
9 —F(u

i+l —Zuj +uj_1)+quj = fj




FBRn BIENES AR

F=F: BRFHLE
F—RKBFFH  w@@)=a, ub)=p
u,=a, u,, =p

_2+qh2 -1 u, F,
-1 2+qh* -1 u, F,

-1 2+4qh’ ||u,| |F

F =h'f +u,
) .
F,=h'f, (j=1,2,--,n)
Fn =h2fn+un+1 12

B R & Web. Link
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Pz 7 5 FE I 4E 18] 7

u, +u,=0, 0<x,y<1 1
u(0,y)=u(x,0)=u(x,1)=0
ku(lay) = sin 7y

AL

xl=ih, (i=0, 1, cee) n) 0 1
yj=jh’ (i=09 1, cee) I’l) B h=1/n

2 —
O'u, Uy ;—2u;;+u

[axz ]i,j = hz =L + O(hz)

2

1
ayZ ]i,j = h2 +0(h2)

[

13




FBRn BIENES AR

1 . .
Uij = Z(Ui—l,j T Ui+1,j T Ui,j—l T Ui,j+1) ( L, ] = L, ..., n'l)
1 ° °
Uu;; = Z(ui—l,j tu,,tu Tt ”i,j+1) (,j=1,...,2n-1)
Mt U, = (du,,,,-U,)/3
SHT-FEREREESIMNER AR
n 10 20 SME
error 0.0028 7.1115e-004 6.5304¢-006
iteratives 152 706

14




BEES &) A

ExL.iZf(x)EC2[a, b], FRMBELANALURRA
b—a

.[f S (x)dx = [f(a)+ f(D)]+ I f"(x)w,(x)dx

Hf o, (x)=(x-a)(x-b)

Ex2. A ESHEMN TN

F(%0) DL (g = 20)= 8 (e = h)+ 8 (xy + )= £ (xy + 20)]
HIEEIRE
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